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Instructions: |
(i)  This question paper contains three Parts : 'A’, 'B' and 'C'.
(i) Part'A’ is compulsory for all candidates.
(i) Candidates shall attempt only one part of the remaining Parts 'B' and 'C".
(iv) All parts of a question should be attempted together.
(v) Marks for each question are indicated against it.
AT - ‘T’ (CRETA)

Part - 'A' (Accountancy)

1. @ gR deay Sl o same e TReR) do § 3Eed & e fear S wmee
2

Give any four important points which must be incorporated in a Partnership
Deed.

2. 3 #al @ 91U 3 UEER & a1 @ & 3f¥c vd e vl A w: welkid @ gl 2
State the items that usually appear on the debit and credit sides of partner's

current account.

[1] ' [P.T.O.



e aier iR EfReR sier # @ I &2 2
What is the difference between equity share and preference share?

P 2 9T Fae e fore afer St &y eeRIRT BT 39T fHaT ST wHdr §l 2

Give ahy two purposes for which amount of share premium received can be
utilised.

T & & SN 3 o e S F vE WaT 2 1,00,000 H 5 fsaTl T 10,000 e YA
53 TRy e 9 eFRIRT & foe el & o5 B ufisa &1 Y X 100 Fed are 10%
RO BT 10% % T R Frifa % fan e v &t 6 S & RIe ¥ Haead St
yfaftear aifswel 3
ABC Company purchased a building from Blue Print company for ¥ 1,00,000.
Payment was made ¥ 10,000 as cash and it was agreed that purchase
consideration be paid by issuing 10% debentures of ¥ 100 each at discount of
10% for balance amount. Give necessary journal entries in the books of ABC
company.

X T BH # URER & 98 Fois AIE B 3T H T 200 ATERUT w9 M 81 39 BH H
ST T 8000 &1 39 BH @Y 1 TS, 2016 B X 4000 BT 0T fean| YT, SMEROT 3R 0T W
5T B &R 5% Wiad &1 geas v af 31 TR 3 s gl &1 e 3 IR B 0
Hife| 3
X is partner in a firm. He withdraws ¥ 200 at the end of each month. His capital
in the firm is ¥ 8,000. He gave a loan of ¥ 4,000 to the firm on 1% July, 2016.
Rate of interest on capitals, drawings and loan is 5% per annum. Books are

closed on 315t December each year. Calculate the amount of interest.

a1 3R YT HH oW afed g WIRER €| § 9 B amv & 1/4 ey & fore e < €
e 31 T 1500 @  Sfm § & 7 1000 St T 3 E| B g F @nhy
% 8000 9d ¥ & WalRa gl s gfaftear el 4
Hema and Prema are partners sharing profits equally. They admit Seema for
1/4t share in profit. Seema pays ¥ 1000 in cash for premium out of her
premium of goodwill ¥ 1500. Goodwill already appears in the books of the firm

at ¥ 8000. Give journal entries.
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| 8. Y%ﬁég#?maﬁsooowsiwmawmﬁﬁa%msqsﬁﬁwwﬁmﬁ
R ST & : T 2 3T W, T 3 3Mded W 3R 3 5 2w e sifaw are W e, S 800
sigit o R 2, ¥ wor 3k i AT Bt g e far &1 aRT: 3 3 BT ER0T AW
R T 3R 3% 5% @edl | O FritE fan wn @1 v fafits & ol 7 smawas
e wfafeat Sifsel 4
Y Limited issued 3,000 equity shares of ¥ 10 each at par. On these shares
payments are to be made as follows: X 2 on application, ¥ 3 on allotment and
5 on first and final call. Mohan, who is a holder of 800 shares, has not paid the
first and final call. Hence, his shares have been forfeited and have been reissued
at a discount of 5%. Pass the necessary Journal entries in the books of Y

Limited.

9. aerer R ¥ 1 FER, 2016 B T 1000 AR 2000 UM T 50 W FOTHH B HEK W
Rrffra fbe| eFRIRT BT ST < 200 STREA W, % 400 SHET R 3R 21 Ford 3R S arerr
w T ST a1l e R @ el § 3aeds JsHE Hiafted! Bl 4
On 1 January, 2016, Akash Limited issued 2000 debentures of ¥ 1,000 each at
a discount of ¥ 50 per debenture. The amount was to be paid ¥ 200 on application,
¥ 400 on allotment and the balance on first and final call. Pass the necessary

Journal entries in the books of Akash Limited.

10. Rreifed frakor ¥ af 2012 & R 310 w3 & @R § B B I ael T B R

@I 0T DI : 4
5§

(i) af 2012 § g T 15,000

(i) af 2011 & 3+ § 3T T 2,000

(i) 31 R=meR, 2011 B A & o T 1,000

(iv) 31 e, 2012 7 3BM # o @ 3,000

(v) 31 femaR, 2012 @Y 3/&W T 5,000

From the following particulars calculate the amount of subscription to be
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credited to Income and expenditure account for the year 2012:

T
(i) Subscriptions Received during year 2012 15,000
(i) Subscription Outstanding at the end of year 2011 2,000

(iii) SUbscription Received in advance on 31 December, 2011 1,000
(iv) Subscription Received in advance on 31 December, 2012 3,000

(v) Subscription Outstanding on 31 December, 2012 5,000

11. f=fofea & fow Js9mar vRifedt A - 4
(i) f1oo;ra)asuw1,oo,ooo$6°/omqumwﬁﬂnq3ﬁ?mw%ﬁhl
(if) ¥ 100 YOS W ¥ 1,00,000 F 6% HOTH BT 5% g2 W = 3k 5% Mgy %

GIEIGEE]

Give the Journal entries for the following :

(i) Issue of? 1,00,000, 6% debentures of 100 each at par and redeemable
at par.

(i) Issue of ¥ 1,00,000, 6% debentures of ¥ 100 each at discount of 5% but
redeemable at premium of 5%.

12. FrfeRed faaxor ¥ 31 %ﬂwq,zowa?rwaﬁaﬁaéés%vmawwmwﬁw
P - s
3T -
W%%ummo,ooo,gﬂﬁmaﬁa%%aﬁfsoo,aﬁ%was%vwwooo,%ﬁﬂ
% 200.
aézmsés%vwmcaﬂooo,aefzmeas%uwmtﬁzs,ooo,asfzo17$f%ma=a¢
I ¥ 600.
eq -
éaq?sooo,nwa%1000,6%@?%%?500,3‘%@?3?%1000,%@3%400,%%@1
¥ 200, WA &7 10T % 50,000, 3RTER T 1000,

Y A T@E AP 1 Y, 2016, T 1000

31 fawmaR, 2016 T 33,200
() a9 2016 & fore < 1200 @7 Tva1 awer &7 &
(if)  3FexT =TT : AT I 100 T BUE T 400
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From the following informations, prepare a Receipts and Payments Account for
the year ended on 31%" December 2016:

Receipts :

Donation for building ¥ 60,000; Sale of old newspapers T 500; fees for coaching
¥ 2000; Sundries T 200.

Subscriptions realised for 2015 ¥ 4,000; Subscriptions realised for 2016
¥ 25,000; Subscriptions realised for 2017 ¥ 600.

Payments :

Salaries ¥ 6000; Repairs ¥ 1,000; Printing and Stationary ¥ 500; Rates & Taxes
¥ 1,000; Electricity ¥ 400; Sundries ¥ 200; Construction of Building ¥ 50,000;
Newspaper ¥ 1000

Cash in Hand:

1st January, 2016 % 1000

31st December, 2016 % 33,200

Other Informations:

(i) Subscription to be realised for 2016 ¥ 1200.

(ii) Outstanding Expenses: Repairs ¥ 100 and Printing ¥ 400.

13. 1 5FeRY, 2015 &1 31, § 3R F 3 WHER) § BT % 10,000, T 6000 3R T 4000 & T &
ST YT foban| 3 el ue ®T Y 5231 2 & 3RUr § famiford B W wewe gel af 2015
& 2RI 37 3MeRT & : 31 2,000, §- X 1,500 31K - % 1,500 | | P T 1200 Wi o de
T P BT AIBR 21 Yot 3R 3mexv1 R <157 6% ufead & ex I e 11 &1 3R
Hal & WA A qd 31 TR, 2015 B GANE 8N dlet 9§ & ord < 9,200 7
@ ve g e @ gt 6
On January, 2015 A, B and C entered into partnership with capitals of ¥ 10,000;
¥ 6,000 and X 4,000 respectively. They agreed to share Profits and Losses in
the ratio of 5:3:2. During 2015 their drawings were: A - ¥ 2000; B - ¥ 1500 and
C - X 1500. C is entitled to receive a salary of ¥ 1,200 per annum. Interest on
capitals and drawings is provided at the rate of 6% per annum. Before adjusting
the above items, the profits for the year ended December 31, 2015 was
¥ 9,200. Prepare Profit and Loss Appropriation Account.

3rerE (OR)
432 (10Z) [5] [PT.O.
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(@)

(a)

(b)
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e, A v e v ok AR & St AR B S o > 3 a7 F afed
| 3R Hiaw # emH-g1= B 3 : 2 : 1 F IR | ie @1 ol foran| erw-avrE
FUIT H YR & PROT TS BT - 3yaT T BT 3 5 diiste] 3

P, Q 3R R v wH & UEER €1 351 fiee gr asf & sitad a¥ & 3maR w® 99 autf
& 9 Jed W =1 @Il Biew &1 Fofg forn| e or ot & oy Frer v & -

Ty 3
I 20,000
i 5,000 (&)
I 10,000
WY 3,000
=i & TUFT BT 3

Rohit, Mohit and Gopal were partners in a firm, sharing profits-losses in the
1 10 Lo
ratio 3 ; 3 : 3 They decided to share future profits-losses in the ratio of

3 : 2 : 1. Find each partner's gain or sacrifice due to change in the ratio.

P, Q and R are partners in a firm. They decides to raise Goodwill Account on
the basis of three years' purchase of average profits of last four years. The

profit of last four years are as follows -

Year T
I 20,000
I 5,000 (Loss)
m 10,000
v 3,000

Calculate goodwill.

[6]



14. v O @i ST ¥ 5000 T 3 T 10 U 379 @ & ¥ T 2 9fT 37 Nitew w®
frifia 51 39 w FergeR gm=ifer e antt-

3deT R % 2 gid e

3T R % 5 gf sier ( % 2 fifvaw )
YU Tl R % 2 gfe 37

fgcita vd sifm g W 2 3 ufd 3|

HHT DI 6500 37N & L 3Mde U gl 500 379N & 3des FRea fod Wl 9 smdest
I ST e AT TaT| T 500 3727 & SETeRY = i~ =T BI Y =T fan|
37 3 e BT e FR ferar W a&rﬁ?&nﬁﬁsﬁaﬁ?:?w%ma%aiégqﬁnﬁa
fopar | FHe sfafteat afsel 6

A limited company issued 5000 equity shares of ¥ 10 per share at premium T 2

per share. The amount will be due on these as follows-

on application T 2 per share
on allotment ¥ 5 per share (including premium ¥ 2)
on first call ¥ 2 per share

on second and final call ¥ 3 per share.

Company received applications for 6500 shares. Application for 500 shares
were rejected. Pro-rata allotment were made for remaining applicants. A share-
holder of 500 shares has not paid the final call. So his shares were forfeited.

Forfeited shares were reissued @ X 7 per share. Give journal entries.
3RMEr (OR)
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T & @ ffids 9 2 100 9@ 10,000, 6% FOUET B SR fHaTl RIS F9 TR 2T 91

37ded W) ¥ 20 Ufd omad
3ded ) ¥ 50 Ufd =Homd
TIH ITIAT ) T 15 ufd =od

e vd s g/ ) T 15 ufq oA

12,000 FOTOE! B ATAEH I gLl 2,000 FHOTTAT & 3T B HGe= 1T IUH B T
X, ST 100 UG BT 3ACH AT, = MEC & T NI R DI F7g01 =111 & a&f 3R
Y, 3 200 FOTYAT B FOUFIR! o, 3F~<T9 THT & H 3% <&

v & ¥ fofics o el 3§ sHa gatear ol 6

ABC Limited issued 10,000, 6% debentures @ ¥ 100 each.

The amount was payable as follows :

on application % 20 per debenture
on allotment T 50 per debenture
on first call T 15 per debenture

on second and final call ¥ 15 per debenture

12,000 application for debentures were received. Application money returned
to applicants of 2,000 debentures. X, applicant of 100 debentures, paid the
entire amount on his holdings on allotment and Y, the debentureholder of 200
debentures failed to pay final call.

Give the journal entries in the books of ABC Limited.

432(10Z) [8]



15. 31 A, 2016 @1 A 3R B &1 fFfeiRag snf¥is fgr o, 3 amsdt gon aif=t @ 2/3 @en

1/3 & 3Ud ¥ gied ¢ -
FIRG] SRIRT (%) | it EFRIFAT (%)
Ion @ ¢ X Ha 25,000
A 15,000 a1 3R Tei=R 17,500
B 10,000 25,000 | WIH 10,850
fafaer @GR 32,950 | fafger e 4,000
d% & Jpg 600
57,950 57,950

FEM C 3 1 38%d, 2016 ¥ Fr=ifpd oraf R IR ¥ W9 & | 98afg &

(37) C o1 el | 1/3 fewa far e qen ag 3= 47 & fore 3 7,500 For @iy & siwr
& fore T 3000 e

(§) Wb a1 Fo= T 7RI & e § 5% Pl B9 B 2l

(@) fofqe dert w® dffa & o 12.5% @1 g5 &= 2

(B) HdT W 10% B &= F - T 2

(@) wfd @ AT [ AHER! & GRT FHebredt ST 2

T BH B ISP H NaTIS @I G vd 4l B @1 e gt sl 8
1A following was the Balance Sheet of A and B on 31st March, 2016 who share

profits and losses in the ratio of 2/3 and 1/3:

Liabilities Amount X Assets Amount T
Capital A/cs: X Building 25,000
Plant & Machinery 15,500

A 15,000
B 10,000 25,000 Stock 10,850
Sundry creditors 32,950 Sundry Debtors 4,000
Cash at Bank 600
37,950 57,950

432(10Z) [9] [ P.T.O.



They agreed to admit C into partnership on the following terms on 1st April,
2016:
(a) Cisto be given 1/3 share in profits and is to bring ¥ 7500 as his capital and
¥ 3000 as his share of goodwill.
(b) The value of Stock and Plant & Machinery is to be reduced by 5%.
(c) A Reserve of 12.5% is to be created in respect of Sundry Debtors.
(d) The building is to be depreciated by 10%.
(e) The Goodwill is to be withdrawn by the old partners.
Open necessary accounts in the books of the new firm and prepare Balance
Sheet of the New firm.
3al (OR)
A, B 3R C o v ¥ ¥RER # 3k ami ik sl & sk s § aey ¥ 3R
31 AT, 2016 &1 WH & faue a1l 30 akra & 39 B &7 g feifea o -

AP EFRIRT (}) | et TR (3)
T ER 60,000 | R Tt 1,00,000
Y - 3 Te], et 40,000
A 30,000 RIS 10,000
B 30,000
C 30,000 90,000
1,50,000 1,50,000

Tt § 3 YRR qed F 10% $H TG §E) SFaRT @1 [T Y 5T 1| FHe
& X 500 BE, ot iondt & sgart foan | ves iy et & fore, Rwd wawt §
PIg TR Tl &Y, T 500 YA b TU| SaTs @ &R 8
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16.

17:

184

A, B and C are partners in a firm and share profits and losses equally. They

dissolved the firm on 31st March, 2016. On this date the Balance Sheet was as

under:
Liabilities Amount Assets Amount
3 T
Creditors 60,000 Fixed Assets 1,00,000
Capital : ¥ Current Assets 40,000
Cash 10,000
A 30,000
B 30,000
€ 930,000 90,000
1,50,000 1,50,000

10% less than book value from assets was realised. Creditors were paid in full.
Dissolution expenses amounted to ¥ 500 which were paid in cash. An amount of
X 500 was paid for contingent liabilities for which no provision was made in the
books of accounts. Prepare necessary Accounts.

o1 - ‘@ (faxira faaol o1 fareewon

Part - 'B' (Analysis of Financial Statements)

1% JaTE fdaRv1 & BE & 39 g 2
Explain any two uses of Cash Flow statement.

Tt faaxor @ 31 sqrEe| 2
Give the meaning of Financial statement.

feifesa srumal & o 9 ferfae: 3

(i) HOT-TFT 3

432 (10Z) [ [P.T.O.



(i) |heT ATy 31U
(iii) i sruEa
Write formula of calculating the following Ratios:
(i) Debt Equity Ratio
(i) Gross Profit Ratio
(iii) Proprietory Ratio
19. faxiig srguTet & B 1 ol B g
Explain any three advantages of Financial Ratios.

20. X ffiRs & v 5 o Refy freifod & -

e, e 3 e}, Tt 3
BT 28,000
TER 24,500 SER 17,500
d% aiferfaey 10,500 AP 3,500
35,000 49,000

(i) e 3rgurd g

(if)  TReT ST B T Pl

The working capital position of X Limited is as under:

Current Liabilities T Current Assets S
Stock 28,000
Creditors 24,500 Debtors 17,500
Bank overdraft _ 10,500 Cash 3,500
35,000 49,000

Calculate

(i) Current Ratio and

(ii) Liquid Ratio.

432 (10Z) [12]



21. v B4 @ i Refy 31w, 2013 wd 2014 31 Siegaa o - 6

ot vd afi | 31.03.2013 | 31.3.2014 | wwRwt | 31.3.2013 31.3.2014
3 g ¥ 3
CIG AR 36,000 41,000 HRNRY 1,07,000 | 1,22,000
TROT - il LR 20,000 ST 8’| 27,000 36,000
3% T 30,000 25,000 80,000 86,000
dal o w9y 1,48,000 1,49,000 Ha+ 50,000 55,000
g 20,000 30,000
el 25,000 22,000
dTeR 35,000 38,400
AFHS 4,000 3,600
2,14,000 | 2,35,000 _ 2,14,000 | 2,35,000
Y & R T 26,000 TN & w9 F T e M|
R1bg TaTe faaxor dur #ifsw
The financial position of a firm as on 31st March, 2013 and 2014 was as under:
Capital and 31.3.2013 | 31.3.2014 | Assets 31.342013 |+31.3.2014
Liabilities 3 3 3 3
Current Liabilities] 36,000 41,000 Machinery 1,07,000 1,22,000
Loan — 20,000 Less: Dep. 27,000 36,000
Bank Loan 30,000 25,000 80,000 86,000
Capital and
Reserves 1,48,000 | 1,49,000 Building 50,000 55,000
Land 20,000 30,000
Stock 25,000 22,000
Debtors 35,000 38,400
Cash 4,000 3,600
214,000 | 2,35,000 2,14,000 | 2,35,000

During the year ¥ 26000 were paid as dividends. Prepare Cash Flow Statement.

432 (107Z) [13] [P.T.O.
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AT - ‘" (31Frasfera araia)
Part - 'C' (Computerised Accounting)

16.%@?%@%@3@@%‘5@[ 2

Explain the relationship between Tally and Accounting.

17. oEide § heie &1 a7 3uan &2 2

What is the use of worksheet in Accounting?

18. vaIeT H BT AA% &7 & B a9 e S| 3

Give any three examples of entering formula in Excel.

19. SLALEA.BE. & B 99 oY qa=e 3

Give any three advantages of D.B.M.S.

20. wa¥et ¥ O §9M B T4 9fHar &2 wHeEy) 3
What is the process of creating chart in EXCEL? Explain.

21. (&) ﬁw%w%mwmﬁmuﬁmﬁamaa%m?g%&ﬂztﬁﬂm

fafrae: 4
ROT DI RIS % 8000

T @ 37afY 4 T

e foowdt & emifdr 3 200

foeal & e 48

(a) Write Spread sheet formula to find out monthly and annual rate of interest

on the basis of the following informations:

Loan Amount % 8000
Term of Loan 4 years
Amount of monthly Instalments T 200
Number of Instalments 48
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(@) 'PMT' Ba=M &I J&TERVT Aigd FHNST|

(b) Explain 'PMT' function with example.

% %k k k
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